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48(67,21 CORRECT ANSWER: 2

Which of these identification signs is ,Distinguishing sign of registration state” of the vehicle
being in international traffic and registered in Georgia?

,00380m 3mdGOMOol Jgbobgd” Logo®mzgemmlb 306mbolb 39-19 dybemol 3g-2 3nbgdob ,a“ 9393969hob Mobobdoc,
,000930LbhM0Mgogmo  LobgmmdBoggmb  gobdobb3zoggdgemo  60dobo“ -  LoghmodmEmobm  dmdMmomdedn  dymazn
Logo®mzgemmBn H930LHEMIIYTO LodhGmOBLIMGEEHM Lodyomgdol gobdobbgozgdgemo 60dobo. 60dobo v&0L gmmoxLiolb
Rm®Iob, MdmImob mgthdgdob LogMdg oMobozemgd 0,17538 X 0,115 3-00. 6030630 RoBgM0ogmod Logdomzgmmb
LoghmodmMmobm 3meo ,GE". momoby®mo sbmgdol bodomeng P6cd ngmb otobozmgd 0,08 3-0bo. 0bobo godmbobymos
oMo Bo3mgd 0,01 3-0b Logobol BhEobgdom. dbmgdo oNEOBgde 030 Lo®gdoz0m MMM BMBYg (NgmMo Bmbo
d90dmgdo  3ngdodmgzemo  dobogmobgob oygmb oddowgdymo). LohMmobbdmMdm Lodyomgdedy 60dobo obg yHboo
©003Mgb MM ob M9aobdhMmogool bmdMmo (LobgmadBogm bLobmatg b60dbow) o 0dbgl oMmMddymo ob oM
30906 9bgl dobo Bozombso.
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48(67,21 CORRECT ANSWER: 3

The driver is forbidden to drive a mechanical vehicle:

Only in case of suspension of relevant Only in case of deprivation or
driving permit termination (cancellation) of relevant

driving permit

Both in case of suspension of the
driving permit and in case of
deprivation or termination (cancellation)
of the mentioned driving permit

”’2.1 ¢Q—“’

,00gBom dmdMmOmdoL dgbobgd“ LodoMmmzgmml 306mbolb 21-g dgbemol 39-3 3nbJdol ©obobdo, ddmmeb Hbs
39mbeogl  LogGobb3mbOBm Lodyomgdol dotm30Lom3z0L Lodobm oYBoMgdgMmo FMEby o PboM-A393900. ™Y
Lodmobb3mMBm Lodyomgdol doMmmzge ©oLOZzgd00 Fbmmmem Logommzgmmb 306mbdEgdemmdnm goblodmgmyema
69b0o Bgbodedobo JoMM30L YB9doL 30604900L 8990093, FdMMML g3Grdogmgde o3 30hgam®mool o6 J3939hgam®manls
LodGObL3MmGH™M LddYomgdol Fobm3zo dgbododobo FoMmm3z0l YBMgdol IM3M3g00L gotgdy, v3Mgm3g o3 YBgd0l
d9hgmgd0L, RodmEm™mdg30l o6 d96y39¢hnl (3o19dg00lL) dgdmbggzodo.

U){](')(T)OOOn.ge

48(67,21 CORRECT ANSWER: 1

Is a driver obliged to go through breath-test at the request of an official of the Ministry of
Internal Affairs of Georgia, if there is enough ground that the driver is under alcoholic,
narcotic or psychotropic drunken condition?

”’2.1 ¢0_H1

,00380m IMdMOMAOL Bgbobgd” bagdoMm3gmmmL 306mbol 21-9 Fgbemol 39-16 3YbJhol Mobobdsco, 0y dMLGIMBL bv3zdom
Loggyd3gemo, ™I IdMMEO deM3M3MEYO0, boGmIMH03YMo 96 BLogmb®MIYmmo LodmgMmoemol dgmdstmgmdsdos,
3d@mmmo  300mEgdYmod  LogoMmzgmmb 80bogob Logdgmo Lodobobhmmb YBMgdedmbommo 3otMmob dmmbmzbob
Loggyd3gmBg, bLodommzgmmb 306mMbAEIOMINM EOZgboemn Bgbom gonomlb dg3mB3agds Lodmaztmomg-boabobemol

oboagboc.
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48(67,21 CORRECT ANSWER: 3

On the territory of Georgia a driver is obliged to carry duly certified translation of vehicle
registration and driving right certificate, if the data provided in it is not written:

It is not completed in Georgian letters, It is not completed in Latin letters, but
but in Latin letters in Georgian letters

It is not completed in Georgian or Latin
letters

L,003Bom ImdHomdl dgbobgd” Lodobrmzgmmb 306mbol 21-g dgbemol 39-17 3nbdhoL 0 o ,0“ 93931969hgdols
006003500, 93 396mbob 54-g dbemom gobLeBM3MYMO 39hgamEm0ol o6 J3935hgamE0l LohEmObL3mMEm Lodyomgdol
3d@mmE0 300MEgOYMNd MOb 0gmbomb, bmemm Lodommzgemml dobogob Logdgme LdobobhGOmL YBEgdodmbogma
3060b dmmbm3zbob 3900b393030 gooRgm™ML LodMmOBL3MEHM LEGYSeMgdd s 83 306 BoMYEgNbmUL: o) bogoMmagmmb
h9BodhmE008g 0yMooymmo dommob dgmbg 03 30h93mMmool o6 J3939hgamEool  boh®obBL3MmMAH™  Lodyoemgdol
30mm30L YBMgdoL odoEobdhnMmgdgmo wm3INdgbdo, MmIgmbLE 030 FomozL, v3Mgm3g o3 Lodh®mobL3mMHm
LOBYOEgooL BH9z30LEHEMOE00L EEFOLAHYMIIgMMO M3dgbho (1Y bodobmmzgmmb 306mbAEgdemmdnm bbgd Mod oM
0oL gom30moLBNbgdY0); 8) 03 3Pbghob o J39396dH0c gobLoBmaMmYMmo M 3YIgbHOL/EM31396HgO0L Lomobopmeo
©0dmB3g0m0 MmoMmgdobo, oy oMmbodbyem ©m3Y396h3n/m3ydgbhgddo obobymo dmboigdgdn dglemyemgdymo oM
0M0b JoOmymo 06 mom0byto dbimgdoo.
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48(67,21 CORRECT ANSWER: 1

In case of absence of the owner and when crossing the state border in the vehicle not driven
by the owner or when going to the country where Georgian jurisdiction does not spread, is
the driver required to have the document proving that the driver enjoys the right to own,

use and manage the vehicle?

”’2.1 ¢Q—“’

,00gBom JmdMomdnl dglobgd” Logomm3zgmmb 306mbolb 21-9 dnbemob 39-17 3nbddob ,3“ 9393969Hob Mobobdog, o3
306mbol 54-g dybemom gobLodmahymo 39hgammonl o6 J3939h9amMmool Lod®mobl3mMmHm Lbodyomgdol ddmmemo
30mMgdPmos Mob 0gmbomb, bmmm bLodommggmmb dobogodb bLogdgmo Lodnbobhdmb YBgdedmbommo oMol
3mmbmgbol 899mb3g30d0  3ooRgMHmML  LodhMobLl3mGmBm  Lodyoemgds o o3 306OL  Botygobml  dmEgdyemo
LodhGobb3mbBm  Lodyoemgdol BmMdoL ob  gobzoMgzol o6 dobomm  Lotzggdmmdol  YABEgISIMLoMgdol
©03500LhYMgogemo  m3Ydgbho -3gbo3ymMmol  otymmbol 8gdmbggzodo dobo  LoghGmobL3mGOHm  bLodgomgdom
LobgemdBogzm LEBM3MOL goo33900L ©6 J39460L 03 HgPodhmEmNoBg goobgmmol 899mb3ggzodn, Lo bogomagmmb

096oboodi300 o6 3GOEgMmgdD.

03M®000N e

48(67,21 CORRECT ANSWER: 3

An international traffic participant driver is obliged to provide following according to the
requirements prescribed by the European Agreement concerning the Work of Crews of
Vehicles engaged in International Road Transport (AETR):

Observation of labour and rest mode

. Routing with tachograph in technically
only

suitable condition only

Both routing with tachograph in
technically suitable condition, as well as
observation of labour and rest mode

”’2.1 ¢Q—“’

,00gBom IMdMOMA0L dgbobgd“ Lodo®mmagmml 306mbol 21-9 dgbemol 3g-19 3bgdhob Mobobds, LoghmodmEobm
dmdMmomdodn dmboboemg ddmmemo 30emEgdYmod PBMY63gmymL ,LogHmodmEmobm booghmImdomm dodmbzemob
360m3mgdgmmo  LodYoemgdgdol 930309g00L  Tdomodol dgbobgd” g3tm3ol dgmobbdgoom (AETR) oggbogemo
3mmbmzbgdol dg9bdodobo hggdboggMo godoMmmymo bozmbhMmmm dmBymdoemmdnm (HodmaMmesom) dmdGmomoy,
036M9m39 3 mToLo o obggbgdol Mgyndol oE33Y.
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48(67,21 CORRECT ANSWER: 2

In case of absence or failure of the pedestrians’ traffic lights, but when traffic is controlled
by the traffic lights, the pedestrian should not go to the driveway:

Until he/she does not make sure in Until traffic light or the signal of traffic
safety of distance of the approaching controller does not allow motion on this
vehicle, define its speed and safety of driveway
crossing

” 9 2. 7 ¢ 0 _H 7

L,003Bom Imdmomdol dgbobgd“ Logdommzgmmb 306mbol 24-g9 dybemols 39-7 3Pbdhob ,0“ 939396ddhoL ™mobobdoco,
9390000 goobobgmmgmbg 3oolamobsl, Yy goobobzmgmBg o oMmLgdMAL, o6 o6 BPdomdl J3g90mmomM30L
30639m360emo  89g60dobo, 3ogMmod Loh®mObL3mMEm Lodyomgdomd IMdMOMONL Mggymotmgds bmME0gmgdL
LodGmobb3mbpm 87946086000 3gd39mdom, 939000 o HbS oo30009L gBol Logoem 6oBnmBg, 30006y d1gd60dboly ob
306m9330m0mgdemob bLogboemgdo o3 bgom BoBoemBg LodMHEBL3MEEHM LdYoTgdome dmMIOHOMBOL YBINYISL 0demgae.

03M®00.0N ge

48(67,21 CORRECT ANSWER: 4

The traffic accident participant driver is obliged to:

Apply the necessary measures only to Avoid making some changes or
ensure traffic safety at the accident destruction of footprints at the accident
scene scene only, which might be useful for
definition of liability
Write down the surnames of the To perform all actions listed in given
witnesses test
” 2. 7 ¢ Q _H 7

,00gBom dmdmomdol dgbobgd” Logo®mzgemmlb 306mbol 27-9 dybemol 30t3gemo 3ybdhob L, J3931969ddholb mobobdoco,
LogBom-bogGmobb3mbBm d93mbggze8n ImboBoemg ddmmmo 3omgdymos doommb dmadgdo LogBdom-bohMobL3dmtmdhm
998mb3930L 900g0emBg dmdMomdol Phommmbmgdol PBEY63gmbLoymAO, dmgMoml 89dmbggzal dagombg Gondgl
d933cmol 96 03 60339¢mg30L  ZobogYMOoL, GMAgmoE dgbodemmo  LoboMmagdmmm oymb  3sLybobdggdemmaonl
oboggbo, RonBghmb m30:03bogmzgmmo g3otgoo.
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48(67,21 CORRECT ANSWER: 1

How many driveways does this road have?

,003Bom dmdMomdol Bglobgd” bogdo®mmagmmb 306mbol 5-9 3gbemol 39-15 3Yb6dhol Mobobdow, 3ol bogsemo 6oBogmo
(bLogomo boBogmo) oMol gBob gemgdgbho, G™AgmoE gob3ym3bomoo PYHgMLm  LohMObLb3mMEHm  bodyomgdol
3mdmomdobom3zolL (gobwo hOdmbyoMmobs, 339thwymobs, 39emmdnmo30lo o J3g0mmo dogmozobs). 93039 dbemols
89-12 3694dhob 00bobdog, 3do v&ob ImdMHomdnbom30L goblboemo gdol o6 gyholb dmgmo Bgedoto. gdol dgndemgdo
39mbgl Mmagmbi ghmo bogzommo BoBommo, obg3g MOAMEgbndg, godmymazn Bmeom 33390MoE 3odoibymmo, ob
Lbgoolbgo Mbgdg o&mLgdymo Logommo bobogmgdo. gb HgMdnbo Bgodemgds IMoEE3gL GHMmO3300L MOObLaL,
HOmAHOML, 3390, 30dyma3 Bmembs o 39emmd0m03L.
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48(67,21 CORRECT ANSWER: 2

How many driveways does this road have?

,003Bom dmdMomdol Bglobgd” bogdo®mmagmmb 306mbol 5-9 3gbemol 39-15 3Yb6dhol Mobobdow, 3ol bogsemo 6oBogmo
(bLogomo boBogmo) oMol gBob gemgdgbho, G™AgmoE gob3ym3bomoo PYHgMLm  LohMObLb3mMEHm  bodyomgdol
3mdmomdobom3zolL (gobwo hOdmbyoMmobs, 339thwymobs, 39emmdnmo30lo o J3g0mmo dogmozobs). 93039 dbemols
89-12 3694dhob 00bobdog, 3do v&ob ImdMHomdnbom30L goblboemo gdol o6 gyholb dmgmo Bgedoto. gdol dgndemgdo
39mbgl Mmagmbi ghmo bogzommo BoBommo, obg3g MOAMEgbndg, godmymazn Bmeom 33390MoE 3odoibymmo, ob
Lbgoolbgo Mbgdg o&mLgdymo Logommo bobogmgdo. gb HgMdnbo Bgodemgds IMoEE3gL GHMmO3300L MOObLaL,
HOmAHOML, 3390, 30dyma3 Bmembs o 39emmd0m03L.
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48(67,21 CORRECT ANSWER: 3

Prior to entering crosswalk, a driver shall make sure that:

The crossing surface is not covered with There is no incoming vehicle on the
ice crossing

. Not to become obliged to stop on it

”’2.’¢Q—“’

L,003Bom dMdMOMINL Jgbobgd® Logommzgmmb 306mbol 25-9 dgbemol 39-6 3bgchoL Mobobdo, ddmmmo ot Pbroo

3930009L 93900000 goEobOL3mMgmBdg, MY 606oLEM SO OYHETYDbgdY, H™A 0l 0dymgdymo oM gobgds goRghwgl
doLdg.

03M®00.0N ge

48(67,21 CORRECT ANSWER: 2

Priority means:

A traffic participant is obliged not to The right of a traffic participant, to be
perform maneuvering, if this forces the first to drive towards intended
other traffic participants to change direction compared with other traffic
speed and direction suddenly participants

” 2. 7 ¢ 0 _H 7

,00380m dmdMomdol Bgbobgd” Lodo®mzgmmmb  306mbol 5-g dybemob 84-g 3nbddol mobobdo, Y3oMmobhgbmde

(3momMohgho) — bogdom dmdMHOMONL IMBoBogmoL YA3EMgdY, Lbgo LugBom dmdMomdnl dmboBoemggdmob dgotmgdom
30639¢m30 0dmdMHomb obdbymo dndoMmmNYENgon.
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48(67,21 CORRECT ANSWER: 2

“Bus” is a vehicle designated for:

Conveyance of the passengers, in which Conveyance of the passengers, in which
the number of seats, other than the number of seats exceeds 8

driver’s seat, does not exceed 8

Transportation of cargo, which
maximum allowable mass exceeds 12
000 kg

”’2.1 ¢Q—“’

,b0gBom dmdMmomdol Bgbobgd” Logdotmagmmml 396mbol 5-9 dgbemol 306m39em0 3Pbghob ™Mobobdog, v3hmdyLo |
03hmbOHMOBLIMMHM Lodyoemgds, HMAgmoE dob3nm3bomos 3gdogtmms gowoboy3zoboe o Mmdmol obsbbromadn
900306m900L MOMEgbmdd, 3otMd ddmmmob vanmoby, 8-b omgdohgde.

U){](')(T)OOOn.ge

48(67,21 CORRECT ANSWER: 2

“Road-train” means:

Combination of a bus with a trailer(s) Combination of a lorry with a trailer(s)
with maximum allowable mass more with maximum allowable mass more
than 1200 kg than 750 kg

Combination of a motor car with a
trailer(s) with maximum allowable mass
more than 750 kg

”’2.1 ¢Q—“’

,00gBom IMdMHOMANL dgbobgd“ Logo®mmzgemmmlb 306mbolb 5-9 3nbemob 39-3 3bgdol Mobobdo, v3hmBodotgdgemo |
Lodhgommnm  03hmamdoemol 750 33-89 dgho bgdoodmymo dogbodommymo  dobolb  dJmbg  FoLoddgemmob/
30Lod3gEYOMLD 3MTO0bV30Y.
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“Insufficient visibility” means reduction of visibility on the road during passing the tunnel, in
dark hours, fog, rain and snow and other natural events:

. At a distance less than 300 meters . At a distance less than 500 meters
. At a distance less than 600 meters

”’2.1 ¢0_H1

,00380m dmdMomdnl Jgbobgd” bLogommzgmmmb  306mbol 5-g dybemol 39-7 3Pbghol mobobdo, vMsbozdoMm0bo
boemazomds — 33060080 3o3emobol, Mg-modol dbgem MML, Bobemol, 63030L, mm30L s Lbzs dYbgdIG™N30
dm3mgbgd0b GmmL 3d0b bogmgomdol 300 dgh®Bdg bozemgd dobdoembg BgdioMmgde.

03M®000N e

48(67,21 CORRECT ANSWER: 3

“Lane line” means:

Part of the road, used for motion of the Any line marked or unmarked by the
vehicles without rails linear road marking from those linear
lines, which may be the driveway

Constructively separated element of the
road, dividing adjacent driveways and
not designated for motion of the
vehicles without rails

”’2.1 ¢0_H1

,00380m JmdMomdnl dgbobgd” Logdommazgmmlb 306mbol 5-9 dybemol 39-9 3nbgdol mobobdow, godymazn Bmemo —
3mbLAHGYI30ymOE 3odmymaoemo 3dob 9mgdgbdo, MGmIgmo ymal dmdoibogg Logoem 6oBoemgdl o o6 oMol
306390360em0 3obbg YHIMLm LodHObL3MGHM LEdYOEgdoL dmdGmomdobomaab.
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48(67,21 CORRECT ANSWER: 4

Besides the driveways, which of the following elements may be included in the road?

. Tram rails and pavements only . Sideways and lane lines only
. Bicycle lanes only .

”’2.’¢Q—“’

Both tram rails and pavements,
sideways, lane lines and bicycle lanes

L,003B0m  ImdMomMOoL  dgbobgd”  Logommzgmmmb  306mbol  5-9 dybemol 39-12 3pbghol  mobobdo, gbdo -
dmdmomdobomzol goblboemo 3ol o6 Jyholb dmgmo Bgwododmn. gdol Bgndmmgds 3dmbegl GmamMmi ghmo bogoemo
BoBogmo, obg Godm9bndy, 3odmyman dmmom 333906Mow 30303610, o6 Lbgoobbgo mMbyBg vMLgdYMmo bogomo
BoBoemgdo. gb hgednbo 8godemgde dmoEo3wgL HMA300L MEobLgl, hMmbyomlb, g3gthoymobl, godyma dmmbo o
390mMI0eM03L.

U)O(')(T)DO.On.ge
48(67,21 CORRECT ANSWER: 1

,Intersection” is:

roads on one level, including the crossings of the road
territories formed after such crossing,
junction or branching

Crossing, junction or branching of the . Entries from adjacent territories and

Crossing of the driveways existing on
various levels

”’2.1 ¢0_H1

,00380m dmdMomdol dgbobgd* bogdomagmmb 306mbol 5-9 dgbemol 3g-13 3Ybghob Mobobdow, gdoszotgwnbo - gbhm
©mbgBdg 3d9d0L 33900, 89gMmgdo ob 3obdhmgds, Sbgmo 339m0m, 8ggEmMgdom o6 Fobdhmgdom Bocmdmgdboemo
H9G0h™mMm0g900Lb  Bomzmom.  gBoizoMmgobo o6  0m3mgdo 303090069  HIm0h™mM09d000b  godmadsgoemo
309mboLgemgmmgdnl gdgdmob 339mo.
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48(67,21 CORRECT ANSWER: 3

,Inhabited area”“ means:

Any territory inhabited with people Any road designated for heavy traffic of
pedestrians

Built-up territory, entry and exits of
which are marked with appropriate
traffic signs

”’2.1 ¢0_H1

,00380m MdMOMAOL Bgbobgd” bogoMm3gmmmL 306mbol 5-9 3gbemob 3g-17 39bgdhob Mobobds, obobemgdymo 3ybdho
- 3960396006909m0  hgbodhm®moo, bLoog Bgbobamgmo o godmbobamgmo ombodbyemos dgbodedobo bogdom
603b6g900m.

03M®000N e

48(67,21 CORRECT ANSWER: 3

“Loaded mass” means:

Mass of the vehicle, without passengers Mass of the vehicle defined by the blank
and cargo, but with entire fuel supply production plant without driver,
and necessary tool set passengers and cargo

Actual mass of the vehicle loaded
during the given period of time

including driver and passengers

”’2.1 ¢0_H1

,00380m JmdMOMdNL Jgbobgd” Logomzgmmmb 306mbol 5-g dgbemol 3g-18 3bgdob mobobdo, odhzodmmyemo dobo
(309h™OM030 Fobd) - dmE9dyem EOMOL dMB339080 EOH30MHMYM0 LodhMEBLIMGAHM LdTYSMgdoL ogJh™OM30
dobo, ddmmmobo o 33Bo3ehgdol Bomzmonm.
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48(67,21 CORRECT ANSWER: 1

“Unloaded mass” means:

Mass of the vehicle defined by the blank Actual mass of the vehicle unloaded

. production plant without driver, . during the given period of time
passengers and cargo, but with entire including driver and passengers
fuel supply and necessary tool set

Mass of the vehicle defined by the
registration service, without driver,

passengers and cargo

”’2.1 ¢Q—“’

,00gBom IMdMHOMINL Jgbobgd” bogomzgmmb 306mbol 5-g dybemol 39-19 3ybgdhol Mobobdog, oyh3oMmmo30 dobo
(c00nh306m030 Bmbo) - Jombobo-od0380gdgemol doghh  gobLodmatmymo Loh®obbdmbhm Lbodyoemgdol dobo
ddmmemob, 33B030gd0bo o H3oMmol gothgdg, 3ogMmod LoB3o30L LYo Fotmogoby o bgmbobymgdolb oyETmgdgema
3™33emagdhob Romzemoo.

03M®00.0N ge

48(67,21 CORRECT ANSWER: 3

,Dark hours” mean:

. Time interval from 6 p.m. until 12 a.m . Time interval from dawn until twilight

. Time interval from twilight until dawn

”’2.1 ¢0_H1

,00380m dMdMOMAL Bgbobgd” Lodomm3zgmmmb 306mbol 5-9 Fgbemolb 21-g 3bgdhob Mbobdow, EMg-mModol dbgemo
©MHM - EMHMOL Y9090 00600900000 gomMgbgdedg.
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48(67,21 CORRECT ANSWER: 1

“Bicycle lane” is:

Road or road section designated for Driveway line, designated for pedal
pedal cycling and marked with cycling. Bicycle lane is separated from
appropriate sign, which is constructively other driveway with linear road marking
separated from other roads or road
elements

” 2. ) ¢ o] _u i)

,003B0m MdMomboL dgbobgd” bogommzgmmb 306mbol 5-g dgbemol 23-9 3ybdhol Mobobdow, 39tmmbo3gwoly doemozo
(390m™00em030) - 390mmL03g0m IMmdHomInLom30l 3ob3ym3boema, dgbododobo Logdom 60dbom S®bodbymo gdo ob
330b 6oBoemo, dM3gmoE 3MbLEHGYIE0YMOE Fodmymaznmos bbgo gBologob o6 gdol Lbgs gemgdgbhgdoliogob.

03M00.0N ge

48(67,21 CORRECT ANSWER: 1

“Adjacent territory” is:

The territory, that directly surrounds the Element of the road designated for
road and is not designated for through motion of the vehicle without rails
route of vehicle (yard, residential area, (other than pavements, sideways,
car park, petrol station, institution, etc.) bicycle lanes and pedestrian paths)

roads on one level, including the
territories formed after such crossing,
junction or branching

. Crossing, junction or branching of the

”’2.’¢Q—“’

,003Bom dmdGOMINL Fglobgd” Logo®mmzgmmb 306mbol 5-9 dgbemol 38-g 3ybdhol Mobobds, dndgdodg hgbodhmMos
- hoohmMmoo, MmIgemoz PIgommem 3oL 933M0L o of oMol gob3ymszboemo bLoh®mObLImMEHm bodgomgdol
3093memo  dmdMmomdobomgol  (98m, LogbmaMmgdgmo  doLogo, 3hmboamadn, ¥96806g0LbodoMmo  LoayMo,

©069bgdYmgde o Lb3o)
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48(67,21 CORRECT ANSWER: 3

“Lane” is:

Constructively separated element of the Total surface of road or street opened
road, dividing the adjacent driveways for traffic

linear road marking from those linear
lines, into which the driveway may be
divided into, but which have the width
sufficient for motion of the vehicles on
one line, different from the motorcycles

. Any line marked or unmarked by the

”’2.1 ¢Q—“,

,00380m dmMdGHOMBOL Jgbobgd” LogoMmmzgemmlb 306mbol 5-9 dgbemol 45-g 3nbgdhob obsbId, ,,dmdMomdnl Brmemo* -
3®do30 LogbBom 3mbod3bol Lodyomgdnm dmbodbyemo o6 dmybodbogo 69d0L3ngtmo Bmemo 08 gédogn dmMgdoD,
MHmImgdoEs3 390demgde ooymb bogommo BoBoemo, Fogtmod MmIgemboz ©d3b dmbm303tmoboged gobbbzogzgdyemo
LooghmImdomm HEMObL3mMHl gho Hogdo dmdMomdobomzal bozdomabo bogoby.
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,Maximum allowable mass” means:

Actual mass of the vehicle loaded Mass of the vehicle filled with cargo and
during the given period of time passengers and equipped, which limit is
including driver and passengers defined by the blank production plant

announced as allowable by the
compertent authpority of the state, in
which the vehicle is registered

. Maximum mass of the loaded vehicle,

”’2.1 ¢Q—“’

,00gBom ImdMomdnl Gglobgd” Logommzgmmb 306mbolb 5-9 dybemol 52-g 3bdhob ™Mobobdsc, 690000y
30g4bodoemyo dobo” (oLod39d0 BmbY) - ohz30OHMYMo LodGmObL3MmEEH™M Lodyoemgdol dogbodomytmo dobo, HmAgmmoE
©obod3g0o oMol  godmbogdymn 03  bLobgemdBogmlb  3m33ghgbhymo  mEgobml  dogh, MmIgemdo
©9M930LAHM0MIYMo LohEmOBLIMMHM Lodyomgde.
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“Low-speed vehicle” is:

A vehicle with or without engine, which Vehicle with engine, which constructive
constructive speed does not exceed 45 speed does not exceed 40 km/h or
km/h which is unable to exceed this speed or

is prohibited from exceeding this speed
for the reason not related to the traffic
flows

Any vehicle, routing on the road no
faster than 50 km/h

”’2.1 ¢0_H1

,003800m  dmdGOMOEL  Jgbobgd” Logo®mzgemmb  306mbob 5-9 dybemol 53-g9 3Iybghob ©obobdog, ,69emdoz0emo
Loh®OBLIMOHM LYo gdd“ - dMO30060 bLohE®BLIMOAHM Lodyomgds, GMAmob 3MBLAHMYJ30Ymo LboRdotg o6
0gdohgoo 40 30/Lm-b 06 HMIgeMoE ©MB0BYem LoRJoMgL 396 ©30MIgOL b g3trdogmgde FoodoMdgdY 0bgmo d0dgdom,
HmAgmoE o6 0ol O3038060903m0 Lodh®ObL3MMEHM LEdYOTgoOMd 6300090mM6.
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“Route vehicle” means:

Any bus in which the number of seats, Vehicle moving on a fixed route and
other than the driver’s seat, exceeds 16 designated for conveyance of
passengers

Any vehicle designated for conveyance
of goods and passengers

”’2.1 ¢0_H1

,00380m mdMomdnl Jgbobgd” Logdommzgmmmb  306mbol 5-g dgbemol 67-9 3bgdhob mobobdog, ,LodoGmAGYHM
Loh®OBL3IMOHM LOTYoNgdS” - 3BoBg 3gBougtmms goEoboy3zobo gob3nm360emn, Oagbomo doMIGYHom dmdMozn
LodGHobb3mGH™m Lodyommgdo.
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,Pavement” is:

Element of the road, which is connected Path designated for pedestrian traffic
. to driveway or separated from it . and separated from road
constructively or by lawn and is
designated for pedestrian traffic

Any road designated for pedestrian
traffic
” 2. 7 ¢ o _H 7

,00380m dmdMmomdol dgbobgd” bogdo®mmagmml 306mbol 5-g dnbemolb 83-g 3Ybgdhob Mobobdo, ,HMmAyoMmo” - gdol
9em9396ch0, MH™MIgemoE J09MHMgdY0d L3O BOBOE™MOL 86 Zodmymaznemos dobgob 3MmbLAHGYIE0YMOE b6 godmbom
0 3o639m3600m00 J39000L dmdEmHomInLbom30b.
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“Pedestrian path” means:

Element of the road, connected to Path designated for pedestrian traffic
driveway and designated for pedestrian and separated from road. The
traffic pedestrian path may be marked with

appropriate traffic sign

Any section of the road designated for
pedestrian traffic

”’2.’¢Q—“’

L,003B0m IMdMOMONL Jglobgd” Logommzgemmb 306mbol 5-g dgbemol 85-g 3ybdhob Mobobdoc, ,9390mme dogmozo” -
939000 dmdMHomdobomzol gob3ymzboemn, abBobgob gobiom3939dnemo dommozn. d3gomme doemozn Bgodemgdo
0b0dbymo 0969l gbododobo Logdom 60dboo.
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“Axial loading” means:

Part of actual mass of the vehicle, that Maximum mass of pressing the axis
forms loading on the road after pressing established by the blank production
the axis plant, sum of which defines the limit of
vehicle gross mass
” 2. ) ¢ Q _H b

L,003Bom dMdMomdob Bgbobgd” budo®mmzgmmb 306mbol 5-g Fgbemol 88-g 3nbdhob Mobobdoc, ,mgthddg ohzobmmao” -
LodGobL3mMBm LodYOmgool gogdhoydmo dobolb boboemno, MmIgmoE Mghddy oBmmol dggaow BotMIMmIMAL gdobg
©5h3060mM30L. MMM  Bo3dYy3ob o6 0Mobo3Y396 M9Mddg oh30MmM30L  gobLoBmamobol, Loh®obL3mGEHm
LodyoMgool 3obng dGommdo ghom boddg 3obmoggdymo, 33MbLHMmYI3oYmo  gobiom3939dmo  Mmghdgdo,
3060boemgdo, Hmgm®z 9hmo dmmosbo mgtdo.
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“Limited visibility” means:

passing the tunnel, during dark hours, of the ascent, landscaping, roadside

fog, rain and snow and other natural construction or obstacles on the road,

events in distance less than 300 meters reduces visibility on the road in the
traffic direction in such a way, that
routing at maximum allowed speed on
this road section may cause danger

. Reduction of visibility of the road while Circumstance, in which a short turn, end

”’2.’¢Q—“’

L,003B0m dmd®OMANL gbobgd”® Logdommzgmmb 306mbolb 5-g dgbemolb 89-g 3nbgdhol mobobdo, ,898mywyemo
bom3o0mds” - 306Mgdmgod, HmAmol mmLoE dm3zemg dmbobggzn, dmBtmmol obobmymmo, godt306900, 3Boldotms
00gg0mdo o6 3dodg 9MLYGINIMO OIMIMgdd IMIMOMIL d03oGMYMgdom gBol bomzomdsl nbg v3E0Mgol, HmA
06036y 3ol Imbo339:8g Bgdoodmmymmo ogdlodomytmo boRgotrnm dmdMomdoad 8gndmgds Lot mbyg Bordmazob.
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“Passenger” is:

. A person driving the vehicle directly . A person using the rolls for motion

A person, who is in or getting on/off the
vehicle, but is not driving it

L,003Bom IMdMOMONL dglobgd” Logdommazgemmlb 306mbol 5-g dybemol 34-g 3nbgdhob ™mobobds, ,d3BogzMmo* - 3oMo,
MmmIgmmo 0dymmgde o6 ool  boh®mobl3mMbm bodyomgdodo (LodhMmobL3mGBm Lodyomgdedg) ob Rodmoob
Loh®OBL3MOHM LOBYOENG0EOD, FogMHO OO FoMmMO3L 3.
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48(67,21 CORRECT ANSWER: 4

Which of the vehicles given bellow is the “Mechanical vehicle”?

. Two-wheel electric self-propeller . Moped or similar vehicles
. Tram . None out of the ones listed in given test

,00380m  dmdMomdol dgbobgd“ LodoMmmzgemmlb  306mbolb 5-g dybemob 35-9 3ybghob mobobdo, 3990603960
Loh®OBLIMOHM LOdPoMgdd“ - dMH30000 (1030000035¢m0) LHGOBLIMOHM Lodomgds, oM MMOMMO60
99dHMMmN30:33mM030L0, IM3g9olo s FobMOb gomobodMgdIYmo bb3d LohE®ObL3mMAm Lodyommgdoly, vg3Mhgm3g
LOENOBEOgM LOhEMOBL3MMHM Lodyoemmgdabe.
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“Light trailer” is:
A trailer, which with maximum A trailer, which unloaded weight does
allowable mass does not exceed 750 kg not not exceed 850 kg
A trailer, which gross mass does not
exceed 950 kg

”’2.1¢0_“’

L,003Bom JmdOOMANL dgbobgd” Logo®mmzgmmb 306mbob 5-g 3gbemol 48-9 3y6dholb Mmobobdoc, ,dLydydo doboddgemo® -
30bod3dgemo, MHMIemol 6gdoOMmYemo dogdbodomydmo dobo o6 smgdshgds 750 33-L.
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In which of the below-mentioned cases is a vehicle considered to be “in the international
traffic” of any state:

Only in case, if it belongs to a natural Only in case, if it is not registered in this
. person or a legal entity, whose ordinary . state

place of residence is outside of such

state

Only in case if it is brought in the state In any case listed in given test
. temporary, but no longer than the .

period prescribed by the laws of this

state

”’2.1¢0_“’

,003B0m ImdMomdoL Ggbobgd* Logommzgmmb 3006mbol 5-9 dgbemolb 66-9 3Pbdhol ™obobdow, LogHmodmEmobm
dmdmomds | Om3gmodg Lobgmdbogmlb hghohmEmoody dygmazo bLodh®obb3mMHm Lodyomgds LboghmedmEmobm
dmdGomdodn dymazao d00Bbg3s, ™My 030: o) 939m360L BB03YMH 96 0yxMooyem oMb, GmAgmbsi R3gymgdoszn
LoEbM3M9dgMN a0 ©d LobgmaBormb gotgm og3l; d) b dGob MgaabhGmoMmgdymo o3 Lobgmdbomdo; g) oa
Lobgmmdboggmdo dghobogmos MHMgdom, og3Mmod v6oYdghgl dobo 306mbIgdMMB0m Oagbnmo 3000bd. 89603360:
Loh®OBL3IMOHM  Lodyoemgdoms 893000396 mdd  LoghmodmGmobm dmdMomdsdn dymazow 3dooRbgzs, oy dobdo
3980350m0 0163 9H M0 LohMOBLIMMHM LdYomgds ©3304maB0MgdL o3 3Pbdhnm gobLodmahym dmmbmzbgodl.
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“Vehicle” means:

The motor equipment only, being into The equipment being into motion or
motion or designated for motion on the designhated for motion on the road,
road, which is generally issued for which moves using the engine or other
conveyance of people or goods force

” 2. i) ¢ Q _H b

L,003B0m dmdMomdol Bgbobgd” Lodommzgmmb 306mbol 5-g Fybemol 73-g 3Pbgdhol ™mobobdo, ,LohMobLb3mmdhm
LOBYOEgOY” - 3Bodg AMIEMO30 96 3doBg FMdHOMINLOM30L Zob3ymM3b60cmn dMBYmINEMMAS, MmAgema dMogol ob Lbgo
doemol 39839™M000 3OO0 OIID.
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“Gross mass” of the vehicle means:

Mass of the equipped vehicle, crew and
passengers during a given period of
time

Mass of the vehicle without crew,
passengers and goods

Mass of the equipped vehicle, filled with Part of the mass of the vehicle, which
cargo, crew and passengers, limit of forms loading on the road after pulling
which is established by the blank the axis

production plant

”’2.’¢Q—“’

L,003Bom dmdGmomdol dgbobgd” Logobmzgmmb 306mbol 5-9 dybemol 39-80 3ybddhoL mobobdog, ,LMymo dobo” -
h3060m0m, ddmmmomd o 33Bo3Mmgdom  dg3Lgdymo, omEYM30em damdotgmdodn dyma3n  bodhMmobLb3mMhHm
Lodyoemgdol  dobo, GMImoL  BM3oML  ©ggbl  Loh®ObLl3mMAm  Lodyoemgdol  JoMbobo-ododBOIdgMMO.
LodGObL3mOHMm Lodyomgdoms 393500g9bmmdol LMo dobo Zodmoobgotndgdo dobdo dgdogomo bohMmebb3mmhm
LOBYOEgogdol LY Foboms $9300.
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While defining loading on each driving and non-driving axis, the axis located on one line in
the cross section of the vehicles and separated constructively shall be considered, as:

. Independent axes . One entire axis

One entire axis - in case of non-driving
axis and independent axes - in case of
driving axis

”’2.1 ¢Q—“’

,00gBom dmdGmoMmdol dgbobgd” Logo®mzgemmlb 306mbol 39-5 dybemol 88-9 3Ybdhol Mobobdoc, Wghddyg oh30Mmm3d
00l Loh®OBL3MEOH™M LddYoemgdob BoghmdM3z0 dobob boboemo, GMmBgmoE W9hddg oBmmol 39930 BoMIMIMAL
33089 oh30mmM30L. Mommgyem 603yYyzob 06 SMBOTY306 Mgthddg odh30MmM30L FobLodmaMobol Lodmobl3mMmdm
LodYoemgdol 3obog dMommdo ghom boddg 3obeMmoggdYmo, 3MBLAHGYIZOYMOL  FObEOM 393900 M9Mdgdo
3060bogmgdo, OHmagm®3 9hmo dmemoobo mgtdo.
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On two-way road with lane line, reverse traffic side shall be:

. Driveway on the left of the lane line . Driveway on the right of the lane line

. None out of the ones listed in given test

”’2.1 ¢Q—“’

,00gBom dMdGHOMAOL dgbobgd” Logo®mmzgemmL 306mbol 31-g dgbemol 39-3 3nbgddhob Mobobdow, MEMTbMH033MIMHOMONS6
33089, MmIgemboi od3b godymazo Bmemo, LodoMmob3omm FodoMmmNYmgdol dmdGmomdol dbogE 03mMgdd 3odymazn
Bmemob dotm3bbng omLgdyemo bvgocmo boBngmo.
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If a driver is unable to define existence of surface on the road (because of darkness, snow,
mud, etc.) and there are no priority signs as well, he/she will be considered to be:

. On minor road . On major road
. On the road equal to the highway

”’2.1 ¢Q—“,

,00380m FMdMOMOOL Fgbobgd” Logdommagmmb 306mbol 36-g dybemol 39-8 3ybdhob Mobobdow, my ddmmemo 396
300bodM3MmogL 3BoBg LogMmol oMLgdMISL (LOdBgMOL, mm3zmol, dogmobol godm o6 Lbgs d08980m) o oM
3momGmohghob 60369300, 0003emgdY, MM 030 3gmMmgbomobbm3ob 3dodg ndymazgodo.
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In case, if the orders of the temporary traffic sign fixed on the vehicle of the organization
performing road works contradict to the orders of the traffic sign posted stationary on the
same road section, a driver shall be obliged to carry out:

Orders of the stationary posted traffic Orders of the temporary traffic sign
sign fixed on the vehicle of the organization

performing road works

”’2.1 ¢Q—“,

,00380m IMdGOMAOL Bgbobgd” bogoMmzgmmb 306mbol 28-g dybemol 39-5 3Ybghol Mobobdo, ™y 3dody Mmgdom
3000Lo¢hob LowadMBg b6 Logdom Lodydomgdol I6oHIMGIgMo MEZOB0BOE0L d3HMIMINEMBY OyYgbgdymos bogBdom
008060 (89903™3 | MHMgdomo Logdom 60dobn), MMIcmol dmmbm3bgdo 960bodMA9agde 03939 3doL IMbBo339mBg
LHOBMbOMYMOE ©oYgbgdyemo Logdom 60dbol Fmmbm3zbgdl, ddmmemo 3oemgdymos 8goLGmHymml Mmgdomo
Logdom 60860L dmmbm3bgd0.
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Driving of motorcycles, buses, light vehicles and lorries are permitted only those persons:

Whose health state complies with the Who is awarded with the right to drive

requirements regarding the health . the specific category or/and sub-

state, that is required for driving of the category vehicle according to the rule

vehicles defined by the Georgian prescribed by the Georgian legislation

legislation and this right is not terminated or
suspended

Who satisfy all of the requirements
listed in given test

”’2.1 ¢0_H1

,00380m dmdMomdol Bgbobgd” Logo®mzgemmb 306mbol 54-9 dybemol 30M3gemo 3ybdhob mobobdo, o3 dybemom
3906bodM3MYMO 39hgzmE00L 96/0d 93930h93MM00L LodhGHOBL3MGEHM LdFYSeMgdolL Focm30L YBIgdS 093l dbmmme
00 306L: o) MmImol FoBAGMgmmdol FgmToMmgmooE  8ggbododgdd  Logo®mmzgmmb  396mbIgdemmdnm
300LoBM3EMYM LohE®OBL3MEOHM Ldyoemgdol JoemM30bEM30L Logodmm $963MMgeMMINL dgaMmBOMgMO0L dmMbmM3bgdL;
d) OMAgMLOE Logomm3zgmmb 306mb3EgdcmMMmd0m oagbommo Bgboom dogbods gbvdodobo 3ohgamMool b/
93939h983mM00L  LodhEObL3IMmOH™  bLodyomgdol dobm30b PRGOS o gb YBgde oM oMol  FgRghmgdyemo,
Rodm&mmdgyemo ob d96y39thnemo (3oynddgdyemo).
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Which identification sign is fixed to the vehicle carrying dangerous goods in the front and to
the rear?

. | only . Il only
. Il only . I and Il only

,003B0m dMdOOMBOL dgbobgd“ bagoMm3zgmmb 306mbolb 3g-19 Fybemol 306M39em0 3Yb69dhoL ,a“ 9393969HoL Mobobdo,
3dmmeo, bmenm 63 306mbob dg-18 dybemol 3n639emo 3169¢hob ,00" J39396dh0m gomzomalBnbgdyem 89dmbggzgddo i
LoBOMIM 30MEgOYMNS 03 3Ybdhnm 3obLoBM3GMYM LohE®ObL3MEMHM Lodyomgdgddyg osdogthmb d93wgan Lobmdn
6086900: 3) ,Lobogomm h3oGmmo“ — 400X300 33 dmdol, LEM®3YNbgE, BoMEbILAgMHo Bobwodhs gotdgdm 15 33
Logobol do30 0MBoom | VLMo H30EHMOL FoodBoEL30 LhMOBLIMMAHM Lddyommgdal Bobo o P306s dbotgl, bmenm
3obhgMbol 8gdmbggzodo | 339G9dBgei  (BoOR@ohoL  J3go  boBogmdn  Pbo  9M0bodbmL  H30Mm ol
3096000900  9Mhgdol mMgobodsiool bmdghmo, bmemm Bgs boBoemdo 1 LdJodOMgdoL LonEgbhox0IdEOM
bmdgtmo. obobo Pbo gooymb 15 33 Lobgolb Boz0 3MENBMbHOMYMo boBom, GMmAgmoi BobmBohol bobgzot

boBoEYBY 3OEO339ND).
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Which identification sign is fixed in the front and to the rear of the mechanical vehicle,
driven by a deaf driver?

. 1l only . Il only

,00380m 3MdOHOMBOL Jgbobgd” LodoMmm3zgemml 306mbol 39-19 dybemol 30t3gemo 3nbddob 3 J393196ddhob Mebobdoco,
3dmmeo, bmenm 63 306mbob dg-18 dybemol 3n639emo 3169¢hob ,00" J39396dh0m gomzomalBnbgdyem 89dmbggzgddo i
LoBOMIM 30MEgOYMNS 03 3Ybdhnm 3obLoBM3GMYM LohE®ObL3MEMHM Lodyomgdgddyg osdogthmb d93wgan Lobmdn
6036900: B8) ,L396000g390m90ym0 Mmoo — 160 33 ©0odghMob yzomgmo BMg Bogbom Robodyemo 40 99
©0039hMob Lodo 8930 6G0m, HMIYd0E obeMOggdYNd BoMAMLOb3nM B39M0m §393000 FodoM MY HMNZ3gMd
Lod3ymbgEol 3ymbggddo | FogMgdd 03 399o6039Mo Loh®obLldmMbm bLodyomgdol Bobo o PH3obs dbobmgl,
HmIgmbog 3ommoglb  Lodommzgmmb  dGmadol, Fob6aMNgmmmdoLby o bmEoomY®o o330l  dobobdhmobs o
Logo®mzgemmb  Bobogob Logdgmo dobobhtol ghmmdmozo 0MHdobgdnm gobbodmadmymo Ldgbowogzgomgdyemo
ddmmemo.
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Which identification sign is fixed to the vehicle, which speed together with cargo and
technical specification is less than the speed established by the legislation?

. 1l only . Il only

,003B0m dMdOOMBOL Jgbobgd“ LadoMm3zgemml 306mbol 39-19 dybemol 303g9emo 3nbgdob ,0“ §393969hol Mobobdoc,
3d@meo, bmenm o3 306mbob 3g-18 dybemol 306h39emo 3169¢hoL L0 J39336dh0m gom3oemobBnbgdyem 8gdmbgg3gddo |
LoBOMIM 30MEgOYMNS 03 3Ybdhnm 3obLoBM3GMYM LohE®ObL3MEMHM Lodyomgdgddyg osdogthmb d93wgan Lobmdn
6086900: 0) ,LoRdo®mob BgBmy3zo“ — 3.24 Logbom 60860L 99330690 BWIMHOO Zodmbobymmgds, GMAgMBILLE
30000090900 6gdooMmymo dmdmomdol LoRdotg (603b0b oodghdo dMobozmmgd 160 33-00, 9®3oob Logobg —
©0039¢hMob  1/10) — dogtgds 03 vMHOZLdMohYmo  (3Lb3nemadddMmHh0b0) bLohMobL3IMmMAHm™ Lbodyomgdol o6
Loboggommm H30mmob 3osddoszn LohGmobL3mMEm bodyoemgdol dotMol YP3obo dbotgl, FoMmEbbog, GMAgMLYE
30Mmmo3L ddmmmo dndomdol 2 Bemodg Lhogolb dgmbyg ddmmemn, vgMgmag 0d dgdmbggzedn, GmEo Hgdboznco
30bobovMIMOm LodMOBbL3MEOHM bLddYoemgdol dogdbodoemymo bLoBdotg o3 306mbob 33-g dybemob 39-7 3nbgdhom
396bodm3MYMBg bozmgdoe.
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Which identification sign may be fixed to the vehicle, at the discretion of the driver, that is
driven by a doctor?

. 1l only . Il only

,00380m 3MdMOMOEL Fglobgd” Logo®mmzgemml 306mbol 39-19 dybemol 39-2 3ybghoL ,0“ J393969dhob ™obobdoco,
ddmmeob by®300mobodgd®m LoghGmobL3mGMHm bodyomgdody dgndmmgdd odogMmwgl d9dcggn LoEdbmdn 60dbgdo: )
»99080" 1 M0 33900M0h0 140-33-0060 339GM0m, d0g Bobodyemo 125 33 0odgh&mob mgmtmo 6(M0m, HmAgmBgo3
309mbobymos Bomgemo $3060 (bLodogmeng 1 90 33, BhMobob Logobg i 25 33) i Bgodemgdo (odogMmgl 0d
LodGObL3MmOHM LEBYOMgdLdYy, HMIgemboE 99030 Admmemo oM mozL.
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This traffic sign is posted:
By the patrol police posts On the terrtitory of Georgia, at the
entrances, by the checkpoints
. At the beginning of the highway

”’2.1 ¢0_H1

L,003Bom  Imdmomdol Ggbobgd” Logdommzgmmmb  306mbol 3oézgemo obotmol 3g-7 moz30L  (Loobgm&mdoom-
3oR396909¢m0 6086900) 7.1 3nbgdhob mobobdog, bogBdom 60dsbo 7.1 ,dsgbodoemyMo LoRJoMmol Bmgowo dgdmyw3gdo” -
0dmmg3d 06gm@®AoE0ol LoRdo®olb Bmgoo B9Bmuw3900L MomMOVdy, MmAmmgdo Logbom dmdMomdol 6gbgdom
©0039b0moo  Logommggmmb  gBgd8g. 608obo  0adgde  Logdommzgemml  hgMohmEmoodyg  dgdmbobgemgemdn
Lo3MBHGMEN™M 3533390 30JdHmb.
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If children playing on lawn or pavement throw a ball on the driveway in front of the vehicle,
a driver shall take into account, that:

Children may run after the ball on the There is no danger that children will
driveway move to the carriageway as they are

required to stop at the edge of the
carriageway and wait for the vehicle to
pass

”’2.1 ¢Q—“’

0y 308mb3g o6 HOmByoMdg dymaz dmmododg d933390L LohGObLImMEHM Lodyomgdol 606 gdolb bLogzomm boBoemdg
30003mY30MEom dYMmo, ddmmeds Pbo goomzoemobBobml, Mmd 00333900 dgndmgdd godmodi3bgb 3dol Logoem
BoB0emBdg dy&mob sbomgdoc.
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If a vehicle is approaching the children playing on the pavement, a driver shall:

Proceed without paying attention to Give honk and proceed without stopping
children, in order not to create obstacle only
to the vehicle behind

. Slow down and be ready for braking

”’2.1 ¢0_H1

0y LOhEOBLIMBHM LodYoEMgdy PYobemmzgds HMmboMdg FMmmododg d039390L, ddmmedd Pbo Fgobgemmls
LoRdotg oo 3Bo nymb odYbcmydgdolbmaal.
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In case of using special baby carriage, stroller or supporting device, a driver shall make sure

in:
Compliance of such baby carriage, Following to the construction of the
stroller or supporting device with height vehicle, using of baby carriage, stroller
and weight of a child only or supporting device for conveyance of

a child is available only
In any of the circumstances listed in
given test
” 2. ) ¢ Q _H b

L3930 YM0 LodO3d3M ghemb, LgoMmdmol b gm0 FMBYMBbNTMBOL 3odmygbgonl 393mbggzod0 ddmmmadd Pbroo
300035m0bBobmL, MmI L3gEooemydmo Lodogdzm ghomo, LogoMdmo o6 dgbododobo OIgM0 BMBYMONTHMOS
999Lododgdo d03330L Lodomengl o BMBsL, oLg3g LohEmObL3mMAMm Lodyomgdol 3MmBLAHMYI300EE godmanbotyg
d9bodmgdgmoo ¥93830L 3ooyzobololb b3gioomy®mo Lodezdzm ghemol, Logotdmolb ob dgbodedolo od3geo

dmBymoogmmdnl godmygbgdo.
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It is forbidden to give a vehicle to other person:

Only if s/he is under alcohol, narcotic or Only when s/he does not have a
psychotropic influence relevant category or subcategory

driving license or has suspended,
deprived or terminated (cancelled)
compliance to Georgian legislation

. In any of the cases listed in given test

”’2.1 ¢0_H1

,00380m dmdMomdol Fgbobgd” Logommzgmmmb 306mbolb 39-20 dybemol 39-4 o 99-5 3Pbghgdolb mobobdo: 4.
030 doemymmod  Loh®obL3IMOHM  Lodomgdol LOFOOMOZ0 oogds 03  JoMobomzol, GMAgMOE 0dymMagOd
0m3m3mmyMo, boMm3mboggmo o6  gLogmhEmIgmo  LodmzMomob  damdotgmdodn. 5.  v3Mdomymod
LodGObL3MmGBHM LddYOEgooL LEFOOMOZ00 FooEgdd 03 J0Mobom30l, HmMIgembsE oM ©gd3b Bgbododobo 30¢hggzmemanl
96 939300h93MmM00L Loh®EBLIMGAHM LETYSeMgdL FoM™M30L YIENgo 06 gb Y3EMgde dghgtgdymmo, RodmEMAgYmo b

d96439¢0emo (3o9939d1em0) 0g3b bogommzgemmlb 306mbAEgdmmInm oEagbomo 6gboo.
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Is the driver of the vehicle, whose health state does not comply with the requirements
regarding the health state necessary for driving the vehicle, prohibited from driving?

”’2.1 ¢Q—“’

,00gBom IMdMOMAL Jgbobgd“ bogotmzgmmmb 306mbol 21-g9 dbemol 39-2 3nbghob Mobobdow, ddmmmb, Gmdemol
$960Omngemmdnl  dgmdodgmds  of  8ggbododgde  Lodh®mobl3mMmpm  Lodyoemgdolb  FobmzoLomzol  Lougomm
$9636H0gemmd0l 3gmBotgmdol dmmbmabgdl, 93tdoemgds bohMmobLl3mMdm bodgomgdol dobmgo.
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If an elderly pedestrian is walking on crosswalk in front of the vehicle, a driver shall take into
account:

Only the fact, that the elderly
pedestrian may not properly assess the

Only the fact, that the elderly
pedestrian may have impaired hearing

speed of the approaching vehicle or/and sight

In all the above-mentioned

Only the fact, that the elderly
pedestrian’s reaction is slower circumstances

”’2.1 ¢Q—“’

0y Loh®OBLIMBHM LBYSMgOoL 606 J390mMO goOLBLZMMgMBY FooognMmMgds dmbyo J3900, ddmmemads Ybroo
300035m0LB0bmLb Mmgm®E ob, MGmd dmbyise J9390m0 dgodemgds Lomobomo 396 vxOLYdEgL dmobemmgdymo
LodGmobb3mbpm Lodyomgdol LoBdobgl, obgzg ob, M3 dmbyso dzgomol GMgodzoe yBG™® dgbgemgdYTOd

d9bodemgdgemos 3ol 3339mMo 3Jmbeogl og390m90emo 1bdgbs s dbg3gemmds.
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Why is driving of the vehicle by a driver under drug influence is dangerous?

Only due to the fact, that the reaction Only due to the fact, that the driver

time of the driver being under drug being under drug influence cannot

influence increases adequately analyze the situation on the
road

All of the listed factors are caused by
narcotic influence

”’2.1 ¢Q—“’

Bo®m3mAH03ymmo bLodM3Mommol damdoMmgmdodn dymazo ddmmenol 09 LohGObL3mMAm Lodyomgdol doMhm3zo
Logmboemolb 899(339¢m00, MoEadd bodmzmAHn3nmo LodmgMmomol damdotgmdodn dyman ddmmeolb Mgodizool
Mhm 0dGMgdy, 51939 030 ©009330¢h MO 396 V060M0BgOL 3BoBg dMLgdY Lodyoiasl.
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During dark hours or in poor visibility conditions, while selecting the vehicle speed, the
driver should give a decisive meaning to:

Visual conditions Road marking requirements specified
on the given section of the road
Number of traffic lanes of opposite None of the circumstances listed in
traffic direction given test should be considered
” 2. 7 ¢ o _H 7

©m9-modol d6gmm EMML ob dMobo3zdoMmobo bommgzomdol 306 mdgd8n, LodhMmobL3mMEHm Lodyoemgdol dmdmomdals
LoRdotolb dgMRg30bol ddmmeads goodbyszgho 36033069emmdS Pbs d0obodmlb dbg39mmdnl 30mHMdgob.
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Content of harmful substances in the exhaust gas of the vehicle will be reduced, if following
is used:

. Quality fuel only

Both vehicle in technically suitable
condition, as well as quality and non-
ethylated fuel (without lead
compounds)

. Vehicle in technically suitable condition
only

Non-ethylated fuel (without lead
compounds) only

”’2.1 ¢0_H1

LodGmobb3mbpm Lddyomgool godmbodmemg v0gddn 380369 bogmogthgdoms dgdoagbemmds d9d306Mgdy, ™Y
390mygbgdymo  0gdbgde  hggdbogyto  godobmymo  LodhMobLbdmGpm  bodyommgdy, obgzg  boMobboobo o
099m0m0MHgoYmo (hy300L 30botmg39d0l gotgdg) bob3ogo.
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In dark hours, if low and high beams of the mechanical vehicle are out of order (switched
off) simultaneously, a driver is prohibited from:

Driving on the road without artificial Driving on any road, whether there is
illumination artificial illumination or not

Driving on artificially illumninated two-
way road

”’2.’¢Q—“’

L,003Bom IMdMomMdOL dglobgd” Logommzgemml 306mbob 39-21-g Tgbemol 39-13 3bdholb mobobdo, ddmmenl
93Mdogmgde  dmdGmomodo  dndo  LodpbGOydm  Lobdhgdol, Lodob 39dobod3ol, Loh®obLl3mMbm  bLodgomgdoms
9905003906cmmdodo  doboddgmmo  dmBymdommmdol  goyndoMmmomdolol, 03GM9gm3g  mg-modob  dbgmm  MOmL
9hmnEhmymo  36ymdMmosb godmbymo  (BodgMmomo) obmmm o dmMo  gobomgdob @obmgdom (o6 domo
0MOMbgOMINLOL) ©6/000 H30bd bogodemadm Lobsmemggdom 03 gdodg, MHMIgEMBgOE 96 vMEb bgemmabyto gobomgdo
o6 0Mobo3doMmobo bommzoEmdvy. ddmmmol dbodmglb oeLgdIYMo F0bobob3gbol PYIMIIgrMANLLL V3?doTYMS
39996039600 LogGOBL3MEHM Lodyoemgdal domzs bobemol, 63030bo O MM30L HMU.
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A motor car driver parked on the sideway with solid surface. Will he/she violate the Highway
Code, if he/she does not switch sidelights on in low visibility conditions?

,00380m dmdMmomdol dgbobgd” LodoMmmzgemmlb 306mbol 49-9 3ybemolb 39-9 3Pbgholb ™obobds, OdNBELgdNW6
30909000009, 03Mgm3g bgd0bdngdmo Lbgo vMobo3zdoMobo bogmgoEmool 306Mmmdgddn, 3Bodg goBgtgdol o6 amdob
mhmb 9990603900 Loh®obbdmbdhm Lodyoemgde o dobo doboddgmo ombodbymo Pbd oymb Bobd o P3060
Logooomohm Lobomemggdom. ©3v39 dgbemol 39-11 3ybgdhob ,0“ 939396dhob mobobdog, o3 dgbemol 39-9 oo 39-10
39699000 Oag60em dmmbmzbomo doybgrooge, 39906039M0 LddhMHObLIMMEHM Lodyomgdd dgndmmgdd gohghwgl ob
00ymxn9dmgl Logmaddg bgdobdngho gotg Lobomo bgmboBymb Roydmazgemo: d) Lbogsemo BobBogmol s 3336030
Loggomol dgmbg 339 YmgdL dogmado.
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Is a car driver allowed to proceed to the arrow direction, if rear side lights got out of order
during driving in dark hours?

,003B0m dMdGHOMANL Fgbobgd” bugo®magmmmlb 306mbol 49-g Fgbemol 30639emo 39b9hob Mobobdog, mg-modol dbgm
OHmL, 03Mgm3g 96OHOL3TOGONLO bommzoEmdNL 306MHm®mdgddn dmdMog 39dobo3n® LohEmObLImGOEhm Lodyomgdody,
03Mgm39 dm3gdg Bobmymo 1bs ogmlb sbemm o6 dmMo 3obomgdol aoMmo/ggotmgdo o P36 LogodoMmohm
Lobomemggdn. 93039 306mbol 21-g dybemol 39-13 3Pbdhol ™mobobdo ddmmenl 93tdogmgdo dmdGmomds 3yds
Lodybmydm  Lobhgdolb, Lodolb  39gobodBdol, Lodh®mobL3mMAHm  Lodyomgdoms  893oa9bemmdsodo  doloddgemo
3mBymO0emmA0L goyndommomdobol, ©gMhgmag ©mg-msdol d6gem OHmML ghmmmymo d6ymOmHowob godmbymo
(Ro3gEoem0) obemm o dmMo gobomgdol BoMmgdom (96 Fomo OMHOGMLIOIMINLOL) ©b/d P3BY  LogodoMoh™m
LoboMEN9gd0m 03 3Bodg, HMIgEMBYLOE VM vEM0L bgemm3byto gobomgde o6 vMolozdotmobo bogmgzomdv.
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Will a car driver violate the Highway Code, if the car is parked at the place shown in the
picture without switching the external illumination on in low visibility conditions?

,00380m dmdMmomdol dgbobgd” LodoMmmzgemmlb 306mbol 49-9 3ybemolb 39-9 3Pbgholb ™obobds, OdNBELgdNW6
30909000009, 03Mgm3g bgd0bdngdmo Lbgo vMobo3zdoMobo bogmgoEmool 306Mmmdgddn, 3Bodg goBgtgdol o6 amdob
mhmb 9990603900 Loh®obbdmbdhm Lodyoemgde o dobo doboddgmo ombodbymo Pbd oymb Bobd o P3060
Logooomohm Lobomemggdom. ©3v39 dgbemol 39-11 3ybgdhob ,0“ 939396dhob mobobdog, o3 dgbemol 39-9 oo 39-10
39699000 Oag60em dmmbmzbomo doybgrooge, 39906039M0 LddhMHObLIMMEHM Lodyomgdd dgndmmgdd gohghwgl ob
00ymxn9dmgl Loamaddg bgdobdngtho gotg Lobomo bgmmboBymb Roydmazgmo: d) bogsemo BoBogmol s 3336030
Loggomol dgmbg 339 YmgdL dogmado.
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Is driving the vehicle, with actual mass exceeding 44 tonnes, prohibited?

Yes, in any case No, if it is above-standard (heavy)
vehicle, routing according to the rule
established by the legislation after
agreement with the authorized body, in

accordance with the conditions
stipulated by this agreement

Routing on secondary roads is not
prohibited only

,00380m ImdMomdnl dgbobgd“ Lodo®mmzgmmlb 306mbolb 47-g dybemol 39-3 3ybddhob o ObobIoE, v3Mdoemymod
33089 03 Loh®mobl3mmbm Lodyomgdol dmdMmomds, GmIgmolb: o) Mommgyem 603y306 o6 0MOBO3Y300 Mghddyg
304b03oemMYM0 IH30MHM30 d®gdohgod 10 HmbsL (goMs ghmBdY36mMmgtdnobo v3hmLohEmIBL3IMEHM Lodyoemgdabo,
Mol 60dy306 MmgMddg 3ogLodoemyMmo OH3M™M3d O YBEO dMgdohgdmemgl 11,5 Bhmbol) v6/0d a3oghmdMo30 dobo
0gdohgde 44 hmbob o6/c00 BogHMIGm030 dobo dmgdohgds Bgdoemmymm dogdlodomy®m dobsl. ©do3g dybemol 39-5
3969hob 0" 939319094hoL Mobobdog, oMo bgdoedmym dogbodomy® dobody BoghmOMm030 Fobob goodotdgdol
0360 doem3obo, 99 dnbemob 39-3 3ybghob dmgdggdo ob 3ME39eMS: ©) 03 dMVZLOIMOHY (ALb3oemaddVMHNSB) ob
89bmG3ohoyem  (8d0dgBmboob) LogMmobLb3mbmbm  Lodyomgdodg, ®mAgmoi adodg dmdMmomdlb  LodoMmmzgemmb
396mb3gdmmmb0m oEagbomo Bgbom PBRMGOLAMboem MmMZIBMLML (PBygdobmob) 8gmobbdgdol 8939z, o7
99006b3g00L 30 Mmdgd0L dgbododoboco.
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Maximum loading on axis of the vehicle with one driving axis (other than above-standard
(heavy) vehicle) shoud not exceed:

. 10 tonnes . 11.5 tonnes
. 12.5 tonnes . 15 tonnes

”’2.1 ¢0_H1

,00380m JmdMomdnl Jglobgd” Logommzgmmmb 306mbolb 47-g dybemol 99-3 3ybgddhob ,o° J393969ddhob Mobobdoc,
030 doemymmos gBodg 03 LogGmobLb3mGMEm Lodyomgdol dmdMmomds, GMAMOL: o) MMM Bd3yY306 o6 dEMOEOTY306
w9Mddg dogdbodommyMo oh30Mmm3zd vMgdohgdo 10 HMBOL (gote ghmBody30bmgtdoobn v3¢hmbLOGHMmObLIMMH™
LodYoemgdoLby, Mmool 653Y306 MgMddg dogdlodoemyMo oh30MHM3d o6 PO dMgdohgdmogb 11,5 hmbob) vb/co
RJH™OM030 Lo ©9Mm9dohgod 44 Hmbob o6/ BoghmIM030 Fobo dgdodhgde bgdoommyem dogdbodomy® dobob.
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Subsequent driving of a vehicle is prohibited, if:

Honk is not operating properly During dark hours low and high beams
or/and rear sidelights are

simultaneously switched off (or are not
applicable) on the road, on which there
is no artificial illumination or there is
low visibility

Hermeticity of feed system is out of

order

Windscreen wipers are not operating in
a fixed mode

”’2.1 ¢Q_H’

,003B0Mm MdGHOMAOL Bgbobgd” bogoMmzgmmb 306mbob 21-g dybemol 39-13 39bg¢hob Mobobdo, ddmmmb 93thdogmgds
dmdmomdo ddo  bLodybtmydm Lobhgdol, Lodolb 89dob0d3ol, LogGmObL3IMmGOHMm bodgomgdoms d9doa9bemmdodn
30bo0dgemo AMBYMONTMONL goydotmmomdnbol, 93Mgm3g Mmg-Mmodolb dbgm EMmL ghmbmymon dBymIMowob
390mbyemo (Bo3gMocmon) dbemm o dm®mo gobomgdol aotmgdom (06 om0 dGMMLGIMBOLOL) 06/ Y3960 LogodoGadhm
Lobomemggdom 03 gdodg, MMIgeMBIELE o6 vl bgemm3by&mo gobomgds o6 vMOLo3ToM0lo bogmgomdos. ddmmenol
dbotgl 66HLYdIYEo F0boLBAgbOL YIMFagEmMONLOL ©3EdoTmymos 3994ob603yMo LohEmOBLIMEMHM Lodysemgdol Jocmazo
Bobemob, 63030Ls O MM30L MHMU.
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Is driving of the vehicle prohibited if its tyre dimension or capacity does not correspond to
the vehicle model?

03Mmdogmymos Lod®obL3mGH™ Lodyoemgdol gdbdemyohoiEos, ™y LodYG®O30 dmdom o6 OLd3gd0 oh30MM30m OO
9990003900 LohMObLIMMAHM Ldyommgdol dmegmb.
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Which drawing shows correct arrangement of hands on the steering wheel?

Logob M30mmBg bgmgdol LEMEO gobemoggdvy, MmgLoE v33M0Ymo LodyoEnol 6oMHAMIMO0L 8gdmbggzodn ddmmenly
dgndomos LEGOWOE o IMbgMbgdymo AMEOGHYOML Lodg yzgemo B03oEmMNYMI0m O OSIMYBML 0go Lobyol
303 m3oMgmdodn. goto odobo LEmMEo gobemoggde PBMYB3gmymAL bgmgddg dnbndoemy®d oth30Mm M3, v330tMgol
OMMOmMOdL. ddmmmo ymagmm3zol 3Bood Mgogntmgds dmobobmlb bogdom bLohyogool E3momgdsdy. bogol
®300mBg bgemgdol LEMEMO gobemoggde boR3gbgd00 Agmtg bobohBg.
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According to the technical requirements of the vehicles which of the malfunction of the
below listed braking system is not permitted?

brake control valve, leaking, damage of test
its control mechanism, deformation or
excessive wear

. Only not satisfactory operation of the . Any of the malfunction listed in given

Only malfunction of the hand brake
squeaky mechanism, excessive

movement of the lever

”’2.’¢Q—“’

»03hMLOHEOBL3IMEOHM LodYOEgdgdol dodoMmam Boygbgdymo hgdbozy®o dmmbmzbgdo, GHMAMMgdmob dgbododobmdol
00003960b 308600033 HotMgde gdobmaol 306mzgoLmOVBg HgbhMgds o dobo Bohomgdol Igmmgdol” bogo®mzgemmb
80036mmo0b 2014 Bemob 3 00639M0L ™30 3900 gdm OdH3I03909M0 H9gbozndo Mggzemsdgbdolb dg-4 dybemol
39-15 o 33-16 3bgdhgool mobobdo: 15. oy33909em0s bgemom oMmm3o00 FbMmHgol LozmbhMmenm botdzgemols
000030 330ymxB0emgdgmmo dmgdggds, gogmbzo, dobo 3o3mbhMmmegdmol oBnobgds, gmmmdntgds o6 Bgwdgho
33900. 16. ©0133909¢m00 bgemol 3nbMmydolb brydhnbo 999060830b goydommomds, d9&m39¢hob Bgdgho bgme.
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According to the technical requirements of the vehicles which of the malfunction of the
below listed braking system is not permitted?

manometer of pneumatic or pneumo-
hydraulic brake

. Only leak of liquid from hydraulic brake Only malfunction of actuation

Any of the malfunction listed in given
test

”’2.1 ¢D—“’

,03hMLOHEOBLIMOHM LYo gdgdol dodoMmm Boygbgdymo h9gdbozndo dmmbmabgdn, GMIMYdIMOLE Jglivdodobmdol
©0003960L 30860mo Hotgdo gbobmzol 306Hgobmdedg habhotmgdo o dobo Rohotmgdol dgmmegdnl” bogotmazgemml
3003mmo0b 2014 Bemob 3 00630M0L ™30 o3gbnmgde O3h30(3909mo H9dbozndo Mggzmodgbhol dg-4 dybemol
09-9 o 09-17 39b6dhgoolb mobobdoc: 9. Lodybmydm LobAHgdgdol bobogboemm o bogmbhemmmm  bobihgdo,
369300h039M0 o 3693dm3nMmogmozndmo bodybtmydm ©ddMmozol Fobmadghmgdn, Loamdn LodybMmydm Lobigdolb
3omm30lb  mMaobmb  ggogdbogool dmBymdommmds Ybo oymlb  godoMmmymo. 17. ©ond3zgdgmos  LodybMmydm
Lotmgd3gmagdol  (bLodgoydzom boMdzgemgdo o MgzyumohmMmgdo) obBoobgde, 3oghmolb  B9dgho  gownbgdo,
3m330gLmM0sb dgdgho Bgmol gonbgds, 9&oLondgm dmbhogn, 3nMozemn3nMo FxbMmysnsb Lombol goobgdo.

03M®000N e

48(67,21 CORRECT ANSWER: 1

Is it prohibited to operate the car if the quantity, type and operation regime of the exterior
lights do not correspond to the requirements of the construction of the vehicle?

. It is forbidden . It is not forbidden

”’2.1 ¢Q—“’

,03hMLOHEOBLIMOHM LYo gdgdol dodoMmm Boygbgdymo h9gdbozndo dmmbmabgdn, HMAMYdIMOE Jglivdsdobmdol
©0003960L 30860mo3 HotMgdo gbobmzol 306Hgobmdsdg Bhabhotmgdo o dobo Rohocmgdol dgmmegdnl” bogotmazgemml
3003mmo0b 2014 Bemob 3 00630M0L ™30 o3gbnmgdm o3h30(3909mo Hadbozndo hggzmodgbhol dg-7 dybemol
089-3 39b6ghob obobdog, EoL3gd0s BoMBMIdNESL dmMbLENm o3¢hMbIHEBL3IMMAHM bLodyommgdggddg Lbbgs oMzl
o 3mEgmgdol 03dhmbOGhMmObLIMMAHMm Lodyoemgdgool goMg dodydo bgmboBymgdol (oygbgde. gothg dodydo
bgmbobymgdol Momgbmds, hodn, gobmoglgds o dhdomdnl Mggndo Yoo dggLodedgdmmgl d3dhmbadmobl3mMmiHm
LTYOMgOOL 3MBLAHMYJ300L F0doE™ EOZI00N FMNbM369db.



0)3(‘)6')00.0n.ge

48(67,21 CORRECT ANSWER: 3

Is it permitted to set the tires with different tread on the same axle?

. It is permitted . It is permitted only on light vehicles
. It is not permitted

»03HMLOHEOBL3MEOHM LodYOEgdgdol dodoMmm Boygbgdymo hgdbozy®o dmmbmzbgdo, GHMAmMgdmob dgbododobmdol
00003960b 308600033 Hotgde gdobmaol 306mzaoLmOVBg HgLhMgds o dobo Bohomgdal Igmmgdol” bogo®mzgemmb
80036mmo0b 2014 Bemolb 3 00639M0L ™30 oggbnmmgdm 33039090 H9gdbozndo hgamodgbhol 39-8 dybemol
39-5 396ddob  mobobdo, ,03¢hmLOGHGOBL3IMOHMm Lodgomgds Pbo o0ymb  O3MI3tmgdhgdgmo  LodYM39d0m,
HmIgmoE godmMmobogh v3¢hmLodGmObL3IMmGOEHM Lodyomgdol dmdMomdol bgdoldogth Mggnddn, LodyMezgdol dgbgdol
053000900L 96 03hMLOHEOBLIMMHM Lodyomgdol 6900L30gem Lbgo 9mMgdgbhmvb. ©oYd3gdgmos ghm MgMddg
Lbgoolbgo 3bmbgdhm®mol 3gmbg LdyMo3900L oygbgdo.
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Out of the listed below in which cases is the exploitation of a vehicle forbidden?
Only in case of leak of fuel in petrol and Only in case of leak of fumes in air
diesel engine systems exhaust system element connection

Only in case of using such air-cylinders In any case listed in given test
that exploitation period has expired

»030MbOHEMOBL3IMMOAH™ LdTYogdgdol dododmm Boygbgdymo Hgdbozy®o dmmbm3zbgdn, MMBMMGdmMOL Bglodedobmdnl
©0003960L 30860mo Hotgdo gbobmzol 306Hg0bmdedg Bhabhotmgdo o dobo Rohotmgdol dgmmegdnl” bogotmmazgemml
80036mmo0b 2014 Bemob 3 00630Mm0L ™30 o3gbnmgdm O3hH30(3909mo H9dbozndo hggzmodgbhol 39-9 dybemol
89-18 o 21-9 3969¢H9d0L Mobsobdogo: 18. oY83909emod 8968060L o 0Bl dMHo39d0L 33900L LoLEHgdsdo LuB3ogz0L
gmbzo. 21. 206H00emmboobo dbl-g9d0b 33900L LoLEHgdo Yoo aygmb 39MAghnemo. YI3909em0d S0MHBOMMBNSL dbL-Bg
obgmo 00mMmMbgdol g3odmygbgdo, MmIgemmoE gobymo o943, 3gdMomeymmo 39dmbEagdol 30000. 03039 Mgamodgbiol
89-14 Oybemol 39-3 3Pbdhob ™obob3o, Y83909em0d gogmbzs 603630 voMgdol godmbodmemgdzol Lobodhgdol
9emgdgbhgool 3996909080, bmmm 30¢homodyMo 3mb39MHMMgdom dmIyM3z0em dbl-9089 oYd39dgemns 603630
2060 900L ohAmbgMmIn godmymazs 30thomodymo 3mbzghhmdmadol g3g9tMmol v3emoom.



0)3(')6)00.0n.ge

48(67,21 CORRECT ANSWER: 3

According to the technical requirements of the vehicles the exploitation of a vehicle is not
permitted in which of the malfunction listed below?

Only when vehicle construction does not Only when the sound signal does not
consider rear-view mirror work

In any of the malfunctions listed in
given test

”’2.1 ¢0_H1

»03HMLOHEBLIMEOHM LoBYOTgdgdol dodoMmm Boygbgdymo hgdboznéo dmmbmabgdo, GHMAmgdmob dgbododobmdols
05003960b 308600033 HoMgde gdobmazol 306MzgoLmLBg HgLhMgds o dobo Roho®mgdol Igmmgdol” bogo®mzgemmb
dmo3mhmodolb 2014 Bemob 3 00630600l ™30 o3gbnmmgdm ©odh 3039090 hgdbozndmo Mgamodgbdol dg-10 dybemols
306390m0 396ghob obobdo, 93¢hmbLOdMmObL3MmGMHM Lodyomgdol bdmgzobo Lobogbommg ImBymdommds Pobs nyml
3005Mmmym gmdotgmdndn. 93039 Mgamodgbhol 99-13 dybemolb 30tM3gmo 3bgdhob ,8“ 939396dhol mobobdoco,
»03HMLOHEOBLIMEOHM Lodomgdd dMENMm30emo Yoo ogmb 3mI3mgdhogool 89dgan 9emgdgbhgdom: B) 3060
bg30L Lo 399000.

0)3(')6)00.0n.ge

48(67,21 CORRECT ANSWER: 1

Is it permitted the cracks and spots to be present on the driver’s side in the windscreen
cleaning area?

. It is not permitted . It is permitted

”’2.’¢Q—“’

»03HMLOHEOBL3MGOHM LodYOEgdgdol dodoMmam Boygbgdymo hgdbozn®o dmmbmzbgdo, GHMAMgdmob dgbododobmdol
00003960b 308600033 Hotgde gdobmaol 306mzgoLmOvBg HgLhMgds o dobo Bohomgdol Igmmgdol” bogo®mzgemmb
80036mmo0b 2014 Bemolb 3 00639M0L ™30 oggbnmgdm 33039090 (H9gdbo3ndo hggzmodgbhol 39-6 dybemol
39-4 39b94thob ™obobdo, obodzgdns Logotg d0bolb Bgo BoBoemdn goddz0M30emg BgMOo dx3L3NL OdogMHgde
Logoboom v H3ghab 140 39, boemm 30¢h9g3mM0gdol dbL-B8g — bogobom, MMABgmoE oM d30MdgoL bodotyg dobob dgrs
BoBogmbo o dobo d0boboBdgbom gobdgbeol Bge Bmbol BrgzoMl dmMol dobdomb. oyd3gdgmos bogotyg d0body,
ddmmemob dbotgl, 30636096c00L dmgdgrgdol 9égdo, dBoMgdaLs O Mggdnl oMbgdmd..



U)ﬂ(')(ﬁ()b.On.ge

48(67,21 CORRECT ANSWER: 2

If vehicle is equipped with its fasteners, they should be adjusted in such a way, that head of
driver and passengers leaned against it:

. In neck area . In nape area

”’2.’¢Q—“’

0y LoghGOBL3IMEHM LOBYOEgOd dMIYM30emos MO30L OLOTSZMIIgemom, 0bobo Mganmotgdyemo Ybws oymb obg,
MHm3 1030 9YMEbmdmEgl 39030L othgdo.

U)ﬂ(')(ﬁ()b.On.ge

48(67,21 CORRECT ANSWER: 1

For security purposes, is it reasonable the driver of a vehicle that is equipped with head
fixation equipment to make sure that the heads of the driver himself and the passengers
lean against the headrest in the back of the head?

. Yes, it is reasonable . It is not reasonable

”’2.1 ¢0_H1

0030L  oLodogMmgdmgdom omEPM30mo  Loh®ObL3mMAm bLodyomgdol ddmmemo dmdGmomdol obygdol Bob
390Mg0YM0d oMB3N6gL, HMI M3000Mb O 338360900 MO30 ITIMHIOL FoytmEbmdNMB 0606 39030L vtgdo.



U).‘J(')ﬁ)()b.On.ge

48(67,21 CORRECT ANSWER: 4

Low air pressure in the tires of the vehicle can lead to:

. Increase of fuel consumption only . Steering complication only

Tire overheating only Increase of fuel consumption, as well as
the steering complication and tire

overheating

LodGobb3mMBm Lodyoemgdol bLodYMO39dd0 oMol OO 669300 dgndemgds godmobzoml GmammE Lobzo30L
bo®mob do¢hgde, dbgzg bagolb FoMmM30L godbgemgds o LddYEHO3900L goobyMmgodo.



™ !

dommbogmgdgemn b0dbgdo




0)8(‘)6)00.0n.ge

48(67,21 CORRECT ANSWER: 1

Which combination of the given traffic signs is posted in uninhabited area, at a distance of
150-300 meters from the railroad crossing without barrier, to the left side of the road?

,00380m dmdMomdol Bgbobgd” LogoMmmzgemmb 306mbol 30039¢mo obotmob 1.1, 1.2 o 1.41- 1.46 3yb6dhgdol
0060bdo, bogdom 608060: 1.1. 63060380 Jemogdoyndnobo gowobobzmgmo” i odmggs gomMmboemgdsl 630603800
domogdoyd0ob goobobamgmmob doobenmgdol momdedg. 1.2. ,6H3000380L Pdemogdondm gowobobzmmgmo® i odmmgzo
3omMmmboemgdol ®3060380L PIcmogdondm  goobobgemgmmeb doobemmgdol momdsdyg. 1.4.1-1.4.6. 630603800
3000Lob3MgMMob  doobemmgde“ 1 ©od(HIY0m dBGHMbogdl ddmmel  oyLobemgdgem 3Pbdhdo M 3060330L
30000bob3eMgEMMOb Foobemmgdol MOmMOVBY. 83039 ObOMMOL 3003gemo Mo30L 8960d360L Lo o ,3° 9393969dgdol
mobobdo: o) b0dbgdo 1.1, 1.2, 1.5-1.34 6086900 (oybobemgdgem 39bdhdn 003dgoo Loboagvmm dmbo 33900
oboByobodeeg 150 i 300 dghtd 3obdogmBg, obobemgdyem 3ybdhdo — 50—100 dgh® dobdoemBdg. oYE30ENIICNMANLOL
0086900 000gdgdo bb3o dob6doemBgooi, G™AgmoE domomgdymos 8.1.1 oagody; 3) 608bgo0 1.4.11 1.4.3 60dbgdo
00033900 gBob dotm3$3gbo dbobgl, bmemm 1.4.411.4.6 603b6gd0 i 3dob domEbgbo dbotgl. 1.4.1 o 1.4.4 6036900
00033900 dmdMomdol 303oOHMYM9d0m dornmo O gobdgmMmgdom 1.1 o6 1.2 60306mob ghmo, 1.4.3 ©o1.4.6
0086900 | dmdGOmdNL FndoMYMgdnm 3obagmedmgonm 1.1 06 1.2 603obmob gbhmo, bmemmm 1.4.2 o 1.4.5 603bgd0
i 03MY3000900M, MOBOdOG OAMEMJOSBY dotr0mo® s gobdgmMmgdom 1.1 o6 1.2 60dobL dmtmol.



0)3(‘)6)00.0n.ge

48(67,21 CORRECT ANSWER: 2

Which is “Emergency stop sign” from these identification signs?

,00380m IMdMOMAOL Bgbobgd” badoMm3gemmL 306mbol 52-9 Fgbemoly 3g9-5 3bgdol MObBobId, ,030M0Ym0 3oRgkhgdol
008060“ oMol Hmmazghos bodzymbgwol BMMAoL oo dMobo3zmgd 0,4 dgh®mo bLog®mdob a3geMgdoms O
0Mobo30mgd 0,05 ghto Logobolb Bomgmo o8n0m. 03 Ld3ymMbgol dyo Boboemo dgodmgdo WEMY oymb 96 oo BgMob
Lo®goo300m 3g0Mmgdmb. Bomgemo o®od dgdb oM Yo dhHOMIOEL 96 Yoo 3Jmbrogl 8ydodtgzmmo m30Lgdol ddmbg
Bmmo. oggs 0bg oS oymb dmBymonmo, ™3 dg0demgdmemgl oymb dobo 39MH030mYe dgmdothgmdsdo dpgMmoo
©0ygbg00.



0)3(‘)6)00.0n.ge

48(67,21 CORRECT ANSWER: 2

Which of these traffic signs is reposted in uninhabited area?

. I and Il only . I and Ill only
. All of them . Il and IV only

L,003Bom FMdMHOMINL Jgbobgd” Logdommzgmmmb 306mbolb 306390 ObaEMOL 30MH39tmo Mo30L (BoxMmboengdgemo
6086900) 896033600 ,,0“ 939396940l MobobIdE 1.2 63060330l PYeMOgdeYI™ Zoobobzemgmo” o 1.11 ,LobodotmmBg
3obobgmgmmo” 608bgd0 dgmMgds oyLobmgdyem 3Ybghdo. dgmg 60dobo 0wadgde Loboggomm dmbo33g9mob
0bOBYoLbOOD VMBO3M9d 50 dgh® dobdnemdg.



0)3(‘)6)00.0n.ge

48(67,21 CORRECT ANSWER: 1

Which of these traffic signs is reposted in uninhabited area?

. None of them . I and Ill only
. All of them . Il and IV only

L,003Bom FMdMHOMINL Jgbobgd” Logdommzgmmmb 306mbolb 306390 ObaEMOL 30MH39tmo Mo30L (BoxMmboengdgemo
0086900) 89603360L ,0“ 9393nbgdhob mobobdo 1.1, 1.2, 1.10, 1.11, 1.23, 1.24 o 1.26 6036900 dgmMgdo
oyLobmmgdgem 3ybdhdn, bmemm 1.24 o 1.26 6036gd0 i obobemgdym 3nbdhdos. dgmbég 608obo 0ggdgdo
Lobogomm 3mbo33900b EOLBBYNLOEOE vEVB3cMgd 50 dgh obdogmBg.



0)3(‘)6)00.0n.ge

48(67,21 CORRECT ANSWER: 4

Which of these traffic signs is reposted in inhabited area?

. I and Il only . All of them
. Il and Ill only . I, Il and IV only

L,003Bom FMdMHOMINL Jgbobgd” Logdommzgmmmb 306mbolb 306390 ObaEMOL 30MH39tmo Mo30L (BoxMmboengdgemo
6086900) 89603360L ,0“ J393906gdhol Mobobdo 1.23 ,d390mmo goobobgmgmo®, 1.24 ,00333900“ o 1.26 ,Logdom
LodYJomgdo“ 608bgdn AgMmEMEgd OYLLbMgdgem 3bgdhdn, bmemmm 1.24 o 1.26 6036900 i obobemgdYm 31bdhdoi.
d9mMg 603060 00033900 bdboadMNM FMBO33900L OLBEYNLOEOD vEVB3Mgd 50 dghtd dobdogmBg.



0)3(')6)00.0n.ge

48(67,21 CORRECT ANSWER: 3

Given signs are posted:

Within 100-120 meters before the No more than 150 meters before the
railroad crossing railroad crossing

. Directly before railroad crossing

L,003Bom FMdMHOMINL Jgbobgd” Logdommzgmmmb 306mbolb 306390 ObaEMOL 30MH39tmo Mo30L (BoxMmboengdgemo
60836900) 896033600 ,9“ 9393969hoL MobObId® 1.3.1 ,9MMNM0sbOZNS00 B3060g380" o 1.3.2 ,30930MEM006dg000
3060380 6086900 00gdgde PY3YOTme H3060880L goobobgmmgemol 60b.



0)3(')6')00.0n.ge

48(67,21 CORRECT ANSWER: 4

Which of these signs warns a driver about approaching the railroad crossing with two or
more rails without barrier?

. | and Il only . All of them
. Il and lll only . IV only

L,bogBom dmdMomdol Bgbobgd” Lodommzgmmb 306mbol 306390 ObotMmoL J0hzgmn ™moz0L FomMmbomgdgemn
0086900) 1.3.2 39694¢hol Logdom 60dobo 1.3.2. ,30300mMMNObEZNdb0 B3060380“ | ndemggs gomMmboemgdsl mo ob
mMBg Igho cm0obogol dgmbg 6 3060330L PIemogdoyndm goobobamgmmob doobemmgdol momdody.



U).‘J(')ﬁ)()b.On.ge

48(67,21 CORRECT ANSWER: 1

At what distance are these traffic signs placed in inhabited area before beginning of danger
zone?

. At a distance of 50-100 m . At a distance of 100-150 m
. At a distance of 150-300 m

,00380m dMdGOMBOL dgbobgd“ bogoMm3zgmmL 306mbol 306390m0 LbIMMOL 3060390m0 Mo30L (FomrMMboMgdgmo
0086900) 8960383060L ,0° 9393190JdHoL ™mobobdoe 1.1, 1.2, 1.5-1.34 60dbgdo coyLbobemgdgmm 3Iybdhdo o0wadgdo
boboggommm dmbB339m0L  oLoByYobodg 150 1 300 dghé 0obdogmBg, oLobemgdyem 3ybdhdo — 50-100 dght
306d0emBg. 9930emgdemmdnbol 603bgd0 0egdgds bbgs dobdogmBgoE, Mg 30000gdYmod 8.1.1 omdy.



0)3(')6')00.0n.ge

48(67,21 CORRECT ANSWER: 3

Given traffic signs are reposted in uninhabited areas before beginning of danger zone at a
distance not less than:

. 150 meters . 100 meters
. 50 meters

,00380m dMdGOMBOL dgbobgd“ bogoMm3zgmmL 306mbol 306390m0 LbIMMOL 3060390m0 Mo30L (FomrMMboMgdgmo
0086900) 89603360L 0 93939094thoL Mobobdo 1.1 603060380 Jemogdoyndosbo gogobobzmgmo”, 1.2 ,H3060380b
990mogd09dm  goobobgmgmo”, 1.10 ,3obobbbgemo bowo”, 1.11 ,LobodoMmmBg gobobgmmgmo”, 1.23 ,d3g00mm0
3000bob3emgmo”, 1.24 ,00333900” o 1.26 ,bogdom Ludydomgdo” 6036900 gmEmgde oYLObIMgdgm 3bghadn, bmenm
1.24 0 1.26 6086900 - obobemgdym 3nbdhdnis. dgmég 60806 0gdgde bvbogomm dmbo339m0b oboByoboob
0Mobd3emgd 50 dg¢h®ol 3obdogmBg.



0)3(')(7)00.On.ge

48(67,21 CORRECT ANSWER: 2

Is posting of the given traffic signs allowed directly at the beginning of uphill or downhill (or
descent or ascent) without board 8.1.1 , distance to the object”, if they are following each
other?

”’2.1 ¢Q—“’

,00gBom dmdMmomdol dgbobgd“ bogdomzgmmb 306mbolb 306390 EOBIMMOL 306h390m0 Mo30L (FoxrMmboemgdgemo
0086900) 89603360L ,3“ 939390ddHoL MObobAd®, ™Y VWIOMMO O EOMIIMMO (90 OMTOEMO O VMWIIMMN)
9m030bgml 303y3gdo, 8.1.1 omol gotmgdg 1.14 ,30390Mm OMAVMMO“ o 1.15 ,;30390m oMAoMmo” 603bgdo
990demg00 o0zl dgLvdodnbow YYIMME dMFdEML s OMIdM M0l 60b.



mamﬁ)nb.on.ge

48(67,21 CORRECT ANSWER: 4

What combination of the given traffic signs is posted in uninhabited area, at a distance of
150-300 meters before the railroad crossing with barrier to the right side of the road?

,00380m dMdGOMBOL dgbobgd“ bogoMm3zgmmL 306mbol 306390m0 LbIMMOL 3060390m0 Mo30L (FomrMMboMgdgmo
6086900) 896083600 ,,o°, ,0“ @ ,3“ 9393969hgdooL Mobobdo: o) 1.1 ,6H3000330L demogdeydoobo gooboligzemgmon” o
1.2 ,63060380L P3emogdondm goobobgmgmo” 6086900 oybobmgdgmm 3y6dhdn 0agdgde Lobogomm dmboz39mab
oboByobodeg 150 1 300 3gh 9obdogmBg, d) 1.1 ,03060380L demogdoyndosbo goobobzemgmo”, 1.2 630603300
P0mogoondm  goobobgmgmo”, 1.10 ,aoboblbbgemo bowo”, 1.11 ,Lobodommdg agobobzemgmo”, 1.23 ,d3g0mmo
3000Lob3emgmo”, 1.24 ,00333900” o 1.26 ,bogdom Ludydomgdo” 6086900 IgmEm IS oYLLbMgdgm 396ghadn, bmenm
1.24 o 1.26 6036900 - coobobemgdyem 3b6gdhdol. dgmég 608060 00g3gd0 Lobogomm 3dmMbBo339m0L ObvBYLoOL
0Mobo30mgd 50 dghtol dobdogmBg. 3) 1.4.1-1.4.3,63060380L goobobzmmgmmob dosbenmgds” 60dbgdo ngdgdo gdol
doMm3$3960 dbotgl, bmemm 1.4.4-1.4.6 ,,603060380L goobobamgmmob doobemmgds” 60dbgdo - JoMzbgbs dbotgl. 1.4.1
o 1.4.4 6036900 00033900 AMdMHoMmd0b 30dotmMYgdom do0mo o EYIMMHIdYm 1.1 96 1.2 608690006 gEhmoc.
0086900 1.4.3 o 1.4.6 000gdgdo ImdGomdol dndocmmyemgdom gobdgmMmgdom 1.1 96 1.2 6036g0mob, bmemm 60dbgdo
1.4.2 000 1.4.5 - 0031300090000, 00060006 OdMMYISBY doG0mo o gobagmMmgdomo 1.1 56 1.2 603693L dmmob.



0)3(‘)6)00.0n.ge

48(67,21 CORRECT ANSWER: 2

Which of these traffic signs marks the intersection with junction of equitable roads?

L,003Bom FMdMHOMINL Jgbobgd” Logdommzgmmmb 306mbolb 306390 ObaEMOL 30MH39tmo Mo30L (BoxMmboengdgemo
0086900) 1.6 39bghob ™obobdo LogBom 60dobo 1.6 ,006000603608369cmMm3060 3Bgdol Zos339ms” - ©MB0dbO3L
33033060 90006L 00600060 36083690mm3060 3dgdob gos339000.



mamﬁ)nb.on.ge

48(67,21 CORRECT ANSWER: 3

Which of these traffic signs warns a driver about approaching the swing bridge or the ferry
crossing?

. | and Il only . Il and Ill only
. 11l only . IV only

,00380m dMdGOMBOL dgbobgd“ bogoMm3zgmmL 306mbol 306390m0 LbIMMOL 3060390m0 Mo30L (FomrMMboMgdgmo
0086900) 1.10 3nbghob Mobobdo Logdom 60dobo 1.10 ,aoboblbgmmo boo” - ndemggzs oGO mbomgdol goboblbgem
00006 06 LLOMMBY goELOLZMMgMMOb Fnobemmgdol MOmMOLdg.



0M3M®00.0n g

48(67,21 CORRECT ANSWER: 1

Which of these traffic signs marks the road section with dangerous turns?

L,003Bom FMdMHOMINL Jgbobgd” Logdommzgmmmb 306mbolb 306390 ObaEMOL 30MH39tmo Mo30L (BoxMmboengdgemo
6086900) 1.13.1 o 1.13.2 3ybgdhgool mobobdo Logdom 60dbgdo 1.13.1, 1.13.2 ,Loboggoomm dmbLobggzgde” -
0608603L 3B0bL dMbo339mL bobogomm dmbiobggzgdom: 1.13.1 — 3063g9em0 dmbobggznm domE3603, 1.13.2 — 306390mo0
dmbobggzom dom3bbos.























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































